A & 0l & AF 2 E A A
20159 E = 2 3l LBtEH ANBEAH
SN NEEND
Hu: DZCNUSY(2HUBZ/280E)

SEREYE 1) (el @ e)
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Husz
NEEAE 1,354,219 1,418,829 64,610

= 1,000 1,000 0

Al 1,353,219 1,417,829 64,610

TTZCNBUSY(SHLDT/25H0S) 1,031,116 1,096,526 165,410
< 1,000 1,000 0

Al 1,030,116 1,095,526 £65,410

cShBE 1,031,116 1,096,526 /65,410
< 1,000 1,000 0

Al 1,030,116 1,095,526 165,410

ENE #E 407,014 418,314 A 11,300
101 Q121 Hl 102,748 103,748 A1,000
04 JIZHH2ENSE A 102,748 103,748 £1,000
OZAHZ A=A 22 66,832 67,832 A1,000
—Jl23 43,819 44,819 £1,000

201 2ot 2 Y| 249,066 266,566 A 17,500
02 ZZ 2| 202,380 219,880 A 17,500
ozzaez %2 MA 106, 100 120,500 A 14,400
—®J|, M5 MGtEE MBE S 77,000 90,000 13,000
—Z2D% HY FME 27,400 28,800 A1,400

Oxtgr o el 4,740 5,840 A1,100

— 0SSN HFREH 2,740 3,840 A1,100

OAl & ZHIR X bl 91,540 93,540 ~2,000
—SAE HMANAY ST 22(8F) 50,000 52,000 £2,000

405 XH&HF S| 39,700 32,500 7,200
01 XAt 227 S 39,700 32,500 7,200
O= AN (1CH) 7,200 0 7,200
ENE 2Y 156,608 167,852 A 11,244
101 Q121 bl 58,458 59,262 £804
04 JIAHH2ENSE S 58,458 59,262 £804
OEAMZ XHEHY 58,458 59,262 804
KIsusy 2,009 2,813 £804

201 YEt2 Ayl 88,610 96,230 AT7,620
01 At 22l 78,820 86,440 A7,620
Oger+gH| 38,500 44,200 A5,700

— SAD/BREHI 5,500 11,200 A5,700
osg+g 40,320 42,240 A1,920
—SHESE AR 5,760 7,680 A1,920

301 YU BN 1,200 4,020 ~2,820
11 JIEr2 &2 1,200 4,020 £2,820
OTAHE KIBA XS AK 0 1,620 A1,620




SN NYEEN

M ZRCANDSY(SHLBL/250)

CHelr T AL EEH-E)
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Hwsz

OO0l S5m0l RS A 1,200 2,400 A 1,200
SARE 285 6,080 6,880 800
= 1,000 1,000 0
Al 5,080 5,880 800
301 Lete &3 3,200 4,000 800
11 JIE 243 3,200 4,000 800
OSAEE MABEIL 3,200 4,000 800
AUTHE 2% 199,379 241,445 142,066
101 @124 52,585 57,385 4,800
YBIENEEP TP 52,585 57,385 £ 4,800
OR0{8I & U2 A 32,740 37,540 £ 4,800
-o= 24,000 28,800 24,800
201 2et2 Y| 133,594 168,460 £ 34,866
01 At 2relt| 108,306 139,300 ~30,994
Opt4gH| 26,786 44,140 A 17,354
—~HOEMH HeEE 2,800 5,000 A2,200
- IUIE=PIE-= 5,466 7,000 A1,534
—REID E#1 4,200 6,000 ~1,800
— YOS M 0/B REH 4,000 10,640 16,640
~ DK E 3,000 5,000 A2,000
—2OUNS AN WEL4E S 4,820 8,000 A3,180
osg+y 80,320 84,160 ~3,840
— A DSHI (R0{Q) 3,840 7,680 3,840
ouxz 1,200 11,000 £9,800
— A2 0 5,000 A5,000
-z 1,200 6,000 A 4,800
02 22| 16,228 20,100 A3,872
OAN & ZH KXY 16,228 20,100 ~3,872
—HESs ¥ OtAHEY RS 4,675 6,500 ~1,825
—MUBEE) L SHBX RS 6,068 7,600 ~1,532
—E2HOXN |24 1,485 2,000 A515
301 LetR &3 4,800 7,200 £2,400
11 JIEt2 & 2 4,800 7,200 A2,400
OYHETAHZ NAZAR 243 4,800 7,200 A2,400
— PO MANFI L NEBA X 4,800 7,200 A2,400
BHSAAU (NS H)(JIEHIIE) 323,103 322,303 800
ol eyl 260,569 259,769 800
ol 260,569 259,769 800
101 @121 8| 260,569 252,569 8,000
03 RIHA22RE 4 207,340 199,340 8,000




SHNEEM
HE: HYR YA (ANYSH2)(OIE/IIE)
S I E= EERED

SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
OZNZ Xzd 2d2e 207,340 199,340 8,000
— &0z 48,109 46,969 1,140
P EF Ot 6,740 5,600 1,140
—3%=g 5,760 0 5,760
=L (R 1,920 0 1,920
HEFE(EHE) 2,640 0 2,640
IIE22(3XHH) 1,200 0 1,200
—JIE=< 1,100 0 1,100
AAUSHIE R+ 1,100 0 1,100
405 TtokH S| 0 7,200 AT7,200

01 AL ESFH SH 0 7,200 AT,200
) 0 7,200 AT,200




